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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted. '
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Question numbers 1 to 4 carry one mark each

freifefiaa demel § 3 ws sftis gen o 1
0.13,013(5 01315 , 0.3013001300013...
Identify an irrational number among the following numbers :
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0.13,0.315,0.1315 , 0.3013001300013. ..

Sira I 5 23~ 322+ 5x— 6 1 T IHEE x—2 ¥ 1

Check whether x —2 is a factor of x> — 322 + 51 — 6.

FIA ABCHYT §, A& LA =50°, /B=130° 31k £C=40°%? L

Is A ABC possible, if £A=50°, ZB=130°and £C=40°?

y-5781 W Feera <1 U@ forg ferfla, st gafsly @ soen gl e ' L

Write two points lying on y-axis, which are at equal distances from the origin.
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Question nurnbers 5 to 10 carry two marks each.
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Find the value of xif 33x - 2 = 4.

W oamm W owed o el ¥ faw wwm  ww A e
AP = a2 — 6a + 8

Give possible expression for the length and breadth of the rectangle, which has area = a2 ~
6a + 8,

#pfa H, I LABD = ZACE 2, @ fag wifse f AB=AC ¥/
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In the figure, if ZABD = ZACE, then prove that AB = AC. e an
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If point R lies between two points P and Q such that PR=QR, then prove that PR = _11: PO

State the Buclid’s axiom which is used for proving this.
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Py lind the area of the right angled triangle in which sides other than hypotenuse are 18 cm and

v 80 cm. Also, find the perimeter of the triangle.

0 fagsi (2, -2) 3R @ 4 ® e #w FTE S @ O W @ 2
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Plot the points (2, —2) and (4, 4). Draw a straight line passing through these two points. Plot
another point (—4, 6). Find if it lies on the straight line.
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Question numbers 11 to 20 carry three marks each.
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Express 18. 48 in the form of %, where p and q are integers , q # 0 TBT‘L
s
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Simplify : [ } : Z A o
243 ) ¢ '_F")
! %
T HHAT : (32— 2b) (9a2 + 6ab + 4b2) — (2a + 3b)(4a% — 6ab + 9b?) 3

-
Simplify : (3a—2b) (9a%+ 6ab +4b?) — —(2a+3b)(4a2— 6ab +9b?) i
9 G 41 3")) K?_Q\ Db)
\Sq 1) [%Q*%) %
TOTREE HITWT : 6561 2% —256b%. - &‘*“)

Factorise : 6561 a®—256 b D ‘3
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In the figure, AB||CD, £Anr = 20" and £ECD = 70° . Find £BEC.
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AD and BE are the altitudes of an isosceles triangle ABC with AC =BC. Prove that AE=BD.
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If lljm, n is a transversal (see figurejand 21 : 22 = 7 : 5, then find all the angles.

AABC =T 95 BC W ¥ fifg 1) (ot 3fiam) 39w &, 5 AD=AC &1 Tuizy fiF AB> AD ¥
A

LA'&LC:LD
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" Dis a point on side BC of AABC (see figure), such that AD = AC. Show that AB> AD
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19 agﬁaABCD%ﬁwﬂ?qm@ameﬁmﬁ@AB=35m,3-
Bc=75m,cn=60m,DA=ﬁamaﬂucns=90°|

Find the area of a quadrilateral field ABCD in which AB=35 m,
BC=75m,CD = 60m, DA = 66 m and ZCDB = 90°.

20 m%mﬁﬁmgﬁﬁﬁwwmmw&ﬁmﬁ@mﬁwﬁﬁaﬁﬁw 3
s cm, 60 cm &1 20 em ¥ =4 BT i FAU STEREE IS W A S T

|2
4, o ®An umbrella is made by stitching ten triangular pieces of cloth, each measuring 60 cm, 60 cm

o and 20 cm. Find the area of the cloth required for the umbrella.
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Express 32,1235 in the form —, where m and n are integers and n#0 ?
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Verify if —3 and 4 are zeroes of the polynomial 2x° —3x2—23x + 12, If yes, then factorise the

polynomial.

T B ¢ (x+y)* = (x—y)3 =6y (x+y) (x—V)
Simplify : (x+y)3 = {x—y)3 = 6y (x+y) (x~y)

SEIREEIEE ﬁﬂ’u—amawisqﬁ plx) = 4x% + 83 + 5x2 + x — 3 T 2x+ 3 UF UGS €1

Show by long division that 2x+ 3 is a factor of p{x) = 85+ 8x3 +5x° + x— 3.

TOREE FHIAT 2 x° —32°—9x~5

Factorise : X' —3x" —9x~5
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To protect poor people from cold weather, Ram Lal has given his land to make a Shelter home for
them. What value is being exhibited by him 7

In the given fig, sides QP and RQ of APQR are produced to pointSand T respectively. If ZPQT=110°
and £SPR= 135" find ZPRQ '
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/BOC=90°— L /BAC
2

In figure, the sides AB and AC of AABC are produced to points E and D respectively. If
bisectors BO and CO of ZCBE and #BCD respectively meet at a point O, then prove that

/BOC=90°— L Z/BAC
2

2, saepfa & AACBEMW%WAC=CDW(ZDE'FH.WHQ°:{G|%I ofs FEC=1078, @ 4
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In figure ZACB is a right angle and AC=CD and CDEF is a parallelogram. 1f LFEC =10°
then calculate ZBDE.

39  Prove that two triangles are congruent if any two angles and the included side of one triangle

is equal to any two angles and the included side of the other triangle.

31 If two lines intersect each other, then prove that the vertically opposite angles are equal. 4
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